
新基礎数学改訂版 

１章 数と式の計算  

 

 

§2 いろいろな数と式（p.21～p.32） 

問１ 

（１）与式 =
33𝑥3𝑦6

32𝑥4𝑦2𝑧6
 

=
𝟑𝒚𝟒

𝒙𝒛𝟔
 

（２）与式 =
(𝑥 + 1)(𝑥 − 3)

𝑥(𝑥 + 2)(𝑥 − 3)
 

=
𝒙 + 𝟏

𝒙(𝒙 + 𝟐)
 

（３）与式 =
{(𝑎 + 𝑏) + 𝑐}{(𝑎 + 𝑏) − 𝑐}

{𝑎 + (𝑏 + 𝑐)}{𝑎 − (𝑏 + 𝑐)}
 

=
(𝑎 + 𝑏 + 𝑐)(𝑎 + 𝑏 − 𝑐)

(𝑎 + 𝑏 + 𝑐)(𝑎 − 𝑏 − 𝑐)
 

=
𝒂 + 𝒃 − 𝒄

𝒂 − 𝒃 − 𝒄
 

 

問２ 

（１）与式 =
1(𝑥 − 1)

(𝑥 + 1)(𝑥 − 1)
+

2(𝑥 + 1)

(𝑥 − 1)(𝑥 + 1)
 

=
(𝑥 − 1) + 2(𝑥 + 1)

(𝑥 + 1)(𝑥 − 1)
 

=
𝑥 − 1 + 2𝑥 + 2

(𝑥 + 1)(𝑥 − 1)
 

=
𝟑𝒙 + 𝟏

(𝒙 + 𝟏)(𝒙 − 𝟏)
 

（２）与式 =
𝑥 + 2

(𝑥 − 1)(𝑥 + 2)
+

𝑥 + 3

(𝑥 − 1)(𝑥 − 3)
 

=
1

𝑥 − 1
+

𝑥 + 3

(𝑥 − 1)(𝑥 − 3)
 

=
1(𝑥 − 3)

(𝑥 − 1)(𝑥 − 3)
+

𝑥 + 3

(𝑥 − 1)(𝑥 − 3)
 

=
𝑥 − 3 + 𝑥 + 3

(𝑥 − 1)(𝑥 − 3)
 

=
𝟐𝒙

(𝒙 − 𝟏)(𝒙 − 𝟑)
 

（３）与式 =
𝑦(𝑥 − 𝑦)

1(𝑥 − 𝑦)
+

𝑦2

𝑥 − 𝑦
 

=
𝑥𝑦 − 𝑦2 + 𝑦2

𝑥 − 𝑦
 

=
𝒙𝒚

𝒙 − 𝒚
 

（４）与式 =
𝑎

𝑏(𝑎 + 𝑏)
−

𝑏

𝑎(𝑎 + 𝑏)
 

=
𝑎 ∙ 𝑎

𝑏(𝑎 + 𝑏) ∙ 𝑎
−

𝑏 ∙ 𝑏

𝑎(𝑎 + 𝑏) ∙ 𝑏
 

=
𝑎2 − 𝑏2

𝑎𝑏(𝑎 + 𝑏)
 

=
(𝑎 + 𝑏)(𝑎 − 𝑏)

𝑎𝑏(𝑎 + 𝑏)
 

=
𝒂 − 𝒃

𝒂𝒃
 

 

問３ 

（１）与式 =
3𝑏2𝑐 × 4𝑎3

8𝑎 × 9𝑏𝑐
 

=
𝒂𝟐𝒃

𝟔
 

（２）与式 =
𝑡2 + 3𝑡

𝑡 + 5
×

𝑡2 − 𝑡 − 30

𝑡3 + 6𝑡2 + 9𝑡
 

=
𝑡(𝑡 + 3) × (𝑡 + 5)(𝑡 − 6)

(𝑡 + 5) × 𝑡(𝑡 + 3)2
 

=
𝒕 − 𝟔

𝒕 + 𝟑
 

（３）与式 =
𝑥2 + 𝑥

2𝑥2 + 𝑥 − 6
×

4𝑥2 − 6𝑥

𝑥2 − 1
×

𝑥2 + 𝑥 − 2

𝑥2
 

=
𝑥(𝑥 + 1) × 2𝑥(2𝑥 − 3) × (𝑥 − 1)(𝑥 + 2)

(2𝑥 − 3)(𝑥 + 2) × (𝑥 + 1)(𝑥 − 1) × 𝑥2
 

= 𝟐 

（４）与式 =
5𝑦3 × {−(𝑥 − 𝑦)}

𝑥(𝑥 − 𝑦) × 10𝑦2
 

=
𝑦 × (−1)

2𝑥
 

= −
𝒚

𝟐𝒙
 

 

 

 

 



問４ 

（１）与式 =

𝑎𝑑
𝑏𝑐

× 𝑏𝑐

𝑎2

𝑏
× 𝑏𝑐

=
𝑎𝑑

𝑎2𝑐
=

𝒅

𝒂𝒄
 

（２）与式 =
(1 −

1
𝑥

) × 𝑥

(𝑥 −
1
𝑥

) × 𝑥
=

𝑥 − 1

𝑥2 − 1
 

=
𝑥 − 1

(𝑥 + 1)(𝑥 − 1)
 

=
𝟏

𝒙 + 𝟏
 

（３）与式 =
(𝑥 + 3) × (𝑥 − 1)

(𝑥 + 1 −
8

𝑥 − 1
) × (𝑥 − 1)

 

=
(𝑥 + 3)(𝑥 − 1)

(𝑥 + 1)(𝑥 − 1) − 8
 

=
(𝑥 + 3)(𝑥 − 1)

𝑥2 − 1 − 8
 

=
(𝑥 − 1)(𝑥 + 3)

(𝑥 + 3)(𝑥 − 3)
 

=
𝒙 − 𝟏

𝒙 − 𝟑
 

 

問５ 

（１） 

 

 

 

 

よって,   与式 = 𝟑𝒙 − 𝟐 +
𝟑

𝒙 + 𝟐
 

（２） 

 

 

 

 

よって,   与式 = −𝟒𝒙 + 𝟐 +
𝟑𝒙 − 𝟕

𝒙𝟐 + 𝒙 + 𝟏
 

 

問６ 

（１）与式 = |0 − 1| + |0 − 3| 

= |−1| + |−3| 

= 1 + 3 = 𝟒 

（２）与式 = |𝜋 − 1| + |𝜋 − 3| 

= (𝜋 − 1) + (𝜋 − 3) 

= 𝟐𝝅 − 𝟒 

（３）与式 = |
𝜋

2
− 1| + |

𝜋

2
− 3| 

= (
𝜋

2
− 1) − (

𝜋

2
− 3) 

= 𝟐 

 

問７ 

（１）与式 = 2√3 − 3√3 + 4√3 

= 𝟑√𝟑 

（２）与式 = √5√5 ∙ 6 + 2 ∙ 2√6 − 3 ∙ 3√6 

= 5√6 + 4√6 − 9√6 

= 𝟎 

（３）与式 = 2√3 ∙ √3 + 2√3 ∙ 3√2 − √2 ∙ √3 − √2 ∙ 3√2 

= 6 + 6√6 − √6 − 6 

= 𝟓√𝟔 

（４）与式 = {(1 + 2√5) + (1 − 2√5)}{(1 + 2√5) − (1 − 2√5)} 

= 2 ∙ 4√5 

= 𝟖√𝟓 

 

問８ 

（１）与式 = |√3 − 4| = −(√3 − 4) 

= 𝟒 − √𝟑 

（２）与式 = √(𝜋 − 5)2 

= |𝜋 − 5| = −(𝜋 − 5) 

= 𝟓 − 𝝅 

 

問９ 

（１）与式 =
12 ∙ √6

5√6 ∙ √6
 

=
12√6

5 ∙ 6
 

=
𝟐√𝟔

𝟓
 

（２）与式 =
1 ∙ (√5 − 2)

(√5 + 2)(√5 − 2)
 

=
√5 − 2

5 − 4
 

= √𝟓 − 𝟐 

（３）与式 =
√2(√5 + √3)

(√5 − √3)(√5 + √3)
 



=
√10 + √6

5 − 3
 

=
√𝟏𝟎 + √𝟔

𝟐
 

（４）与式 =
(2√3 − 3)(2√3 − 3)

(2√3 + 3)(2√3 − 3)
 

=
12 − 12√3 + 9

12 − 9
 

=
21 − 12√3

3
 

= 𝟕 − 𝟒√𝟑 

 

問 10 

（１）与式 = 6 + 8𝑖 − 3𝑖 − 4𝑖2 

= 6 + 5𝑖 − 4 ∙ (−1) 

= 𝟏𝟎 + 𝟓𝒊 

（２）与式 = 𝑖2 ∙ 𝑖 −
𝑖

𝑖2
 

= −1 ∙ 𝑖 −
𝑖

−1
 

= −𝑖 + 𝑖 = 𝟎 

（３）与式 =
(1 + 2𝑖)(3 + 4𝑖)

(3 − 4𝑖)(3 + 4𝑖)
 

=
3 + 4𝑖 + 6𝑖 + 8𝑖2

9 − 16𝑖2
 

=
3 + 10𝑖 − 8

9 + 16
 

=
10𝑖 − 5

25
 

=
2𝑖 − 1

5
 

= −
𝟏

𝟓
+

𝟐

𝟓
𝒊 

（４）与式 =
(3 − 2𝑖)(3 − 2𝑖)

(3 + 2𝑖)(3 − 2𝑖)
+

(3 + 2𝑖)(3 + 2𝑖)

(3 − 2𝑖)(3 + 2𝑖)
 

=
(9 − 12𝑖 + 4𝑖2) + (9 + 12𝑖 + 4𝑖2)

9 − 4𝑖2
 

=
18 + 8𝑖2

9 + 4
 

=
18 − 8

13
=

𝟏𝟎

𝟏𝟑
 

 

 

問 11 

（１）与式 = √4𝑖 × √16𝑖 

= 2𝑖 × 4𝑖 

= 8𝑖2 

= 8 ∙ (−1) 

= −𝟖 

（２）与式 = √4𝑖 − √16𝑖 

= 2𝑖 − 4𝑖 

= −𝟐𝒊 

 

問 12 

 

 

 

 

 

 

 

 

問 13 

（１）3 − 2𝑖 = 𝟑 + 𝟐𝒊 

（２）−3 + 2𝑖 = −𝟑 − 𝟐𝒊 

（３）2𝑖 = −𝟐𝒊 

（４）4 = 𝟒 

 

 

 

 

 

 

 

 

問 14 

（１）与式 = 4 + 𝑖 + 4 − 𝑖 

= 𝟖 

（２）与式 = (4 + 𝑖)(4 − 𝑖) 

= 16 − 𝑖2 

= 16 − (−1) 

= 𝟏𝟕 

（３）与式 = (1 + 3𝑖)(1 + 3𝑖) 

= 1 + 6𝑖 + 9𝑖2 

= 1 + 6𝑖 − 9 

= −𝟖 + 𝟔𝒊 



問 15 

（１）|4𝑖| = √02 + 42 

= √16 

= 𝟒 

（２）|3 + 𝑖| = √32 + 12 

= √9 + 1 

= √𝟏𝟎 

（３）|3 − 𝑖| = √32 + (−1)2 

= √9 + 1 

= √𝟏𝟎 

（４）|−1 − 3𝑖| = √(−1)2 + (−3)2 

= √1 + 9 

= √𝟏𝟎 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


